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PHILOSOPHY
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Full Marks :100
FT}'me : 4 hours

Answer any six questions
taking three from each Group

The figures in the right-hand margin indicate marks™

Candidates are required to give their answers in their
own words as far as practicable

Write the answer to questions of each Group
in separate books

(Advaita Vedanta)
GROUP—A

1. Discuss, after the Bhamati, the oppfonent’s position
that Brahman is not an ebject of enquiry. 16
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2. Explain, after the Bhamati, Sankara’s definition of
adhyasa , smrtirupah paratra purvadrstavabhasa. 16

3. (a) Whatis akhyati?

() Explain how does Vacaspati refute the theory
of akhyati . -~ 6+10

4. tat punahbrahma prasiddham aprasiddham vasyat ?
yadi  prasiddham na  jijiasitavyam. atha
aprasiddhar naiva Sakyar jijasitum iti .

Explain the above purvapaksa and the reaction
-of Sarkara to it. 16

S. IstheBrahmasiitra, Jjanmadyasya yatah aninference
to prove the existence of Brahman ? Discuss. 16

6. Answer, in short, any four of the following : 4x4
(/) Whatis Vedanta?
(i) What is sadhanacatustaya?
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(iif) What are the Vedingas?

(iv) Whatis an&vacaniyakhya‘ti ?

(v) What is tatastha laksana ?

(vi) Distinguish between arthadhyasa and

Jjfanadhyasa .

[ General Impression : 2 Marks]

GROUP—B

1. (a) Discuss pramalaksana, according to Vedanta
-Paribhasa ?

(b) What is meant by dharabahika jiiana?

(¢) How does pramalaksapa given in Vedanta
-Paribhasa avoid the charge of avydpti- as
regards to dharavahikajiiana ? Explain. 8+4+4

2. (a) Explain three types of caitanya after Vedanta
-Paribhasa.
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() Whatis the criterion of perceptualify of objects
(visayagatapratyaksatva). Discuss after the
Vedanta-Paribhasa. Explain briefly. 4+12

3. (a) Whatis the utility of contact ( sannikarsa ) after
the Vedanta-Paribhasa.

(b) Explain  savikalpaka and nirvikalpaka
pratyaksa , according to Dharmaraja. 4+12

4. (a) Explain the character of perception both as
regards objects (jiieyagata pratyaksa) and as
regards cognition (jiaptigata pratyaksa),
accordihg to Vedanta-Paribhasa.

(b) Explain, in this connection, the nature of .
erTor. " 8+8

S. (a) Explain essential» characteristics (svarupa
laksana) and secondary characteristics
( tatastha laksana ) with suitable examples.

(b) Explicate the essential characteristics and the
secondary characteristics of Brahman,
according to the Vedanta-Paribhasa. =~ 4+12
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6. (a) Answer any two from the following : 4x2
'(1") What is tanmatra?
(if) What is paricikarana?
(iii) What is lirigasarira ?
(iv) What is antahkarana?

(b) Answer in short any four from the
following : 2x4

( i) What is antahkaranavrtti ?

(i )' What is Hiranyagarbha?

(iii) Whatis vydvaharikatattvavedakatva 7
(#v) What are the four gross bodies ? |

(v) Whyis moksa caﬂed parama purusartha ?

(vi) What is Mahavakya ?

[ General Impression : 2 Marks]
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(Advanced Logic) '
GROUP—A

1. Show that the rule of substitution of Equivalents
holds in PM. 16

Or

Derive the following in the PM from its base (any

two) :

(1) pop

(i) po(pVq)
(i) (pvq)o((rvg)Vvp)
(iv) pV~~~p.

2. (a) Explain the derived rule used for the derivation
of the line (3) in the following proof :

T,:(po(g>r))o(go(por)) (1)
T,:(gar)>((p>g)>(por)) (2)
T,xT,:{poq)>o((g> r):(p': r)) (3)'.
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(b) Given:
() pv~p
(i) (gor)>((gVvp)>(rVv p))
(i) ((pV @) V) (pV (gVr)).
Derive the following in PM.
Al 4(p:'(q3(p'q)))
" B. (pog)o((pVg)>gq)

C. (~p>g)>(pVvyq) 4+(4+4+4)

3. (a) Set out clearly the three different senses. of
consistency.

| (b)" Show that PM is consistent in all these
senses.. 6+10

4. (a) Explain possibility and impossibility as the basic
“modal notions.

(b) Prove the following theorems in modal
system- 7 '

(i) L(p=q)={(p=q)
(if) (Lpv Lgq)>L(pVq)
(i) Lp> (Mg> M(p-q)).  4+(4+4+4)
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5. (a) Prove the following theorems in the modal
system- S,.

(/) MLP =MLMLP
(ii}) LP =LLP.
(b} Answer the following:

(1) In whatsense the system § , is stronger than
_the system-T" ?

(i} In what sense every necessary proposition
is necessarily necessary? (4+4)+(4+4)

6. Write short notes on the following: = 4+4+4+4
() Modal operétors are not truth fupctional : |
(i7) The Rule of L-M interchange
(iir) Paradox of strict implication

{iv) Transformation rules.

[ General Impression : 2 Marks}
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GROUP—B
1. (a) Whatis an ordered couple ?

(b) Let <4,5,6>and <7, 8,9> be two arbltrary
ordered triples. Prove that

<4, 5, 6>=<7, 8, 9> if and only
if4=7,5=8and 6 =9.

(c) Will there be any difference if we repeat the
element 2 both in {1, 2)and <1, 2>? vae
reasons for your answer. |

(d) Let, R be a'relation where

R={<1,1>,2,2><1,2>,
<2,3>x<1,3>}

Find the domain and counter domain of R . State
what properties of reflexivity, symmetry and '
transitivity does the relation have in its own
field? 2+4+3+7

2. (a) What is reflexive relation ? Give one example
- of reflexive relation.

(b) Let, Q= {a, 3, 4}. Give an example of a binary
relation which is reflexive, transitive but not
symmetricin Q.
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(c) Distinguish the following relations according to
the properties they do or do not have. (e.g.
reflexive, symmetric, transitive etc.)

.( i'). The relation of loving and thé relation of =.

(if) The relation of being a sister and the
relation of being a mother.

(d) Is the relation of having the same height an
equivalence relation in the set of all persons ?
Give reasons for your answer.

(e)
Let, A= {<Tom, Jim>, <Jim, Ann>}.

What is the Universal relation over the field of
- A? (1+1)+3+21421)4343
» 2 2
3. (a) What is relative product ?

(b) Let, -
M= {<2,1>, <4,3>, <6,7>}

N={<1,4>, <3,5>, <7,8>)

Find: M N (M| N).
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(c) ¥ xFy means x is the father of y.
xMy means x is the mother of y.
xBy means x is the brother of y.
xSy means x is the sister of y.

Then find : (answer any two )

(i) x[(BUS)|(MUF)ly.
() x[ (M ~F)| (M UF)]y.
(i) x[(S ~B)| Fly.

(d) Which of the following relations are functions ?
Give reasons for your answer.

(i) {<a,2>, <a,3>, <b,3>)}
(if) The relation of being a grandparent.

(m) {<1,1>, <2,4>, <2,5>}.
2+2+(3x2)+(2x3)

4. (a) What is well formed formula of a formal
language and how it is determined ?

(b) When can we say that two formal languages are
identical ?

(c) What is a formal system ?
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(d) What is proof theory ?
(e) What is meant by semantic ?

(f) (i) Is it a syntactic or a semantic property of
a formula of the system z that it is an
immediate consequence of another formula
inz?

(if) Is it a syntactic or a semantic property of
a formula that it denotes a number ?

(1+2)+2+3+2+2+(2+2)

5. (a) Distinguish between the following pairs {any
" two) '

(/) Model theory and Meta theory

(i) Use and Mention |

(iif) Decidable and Undecidable sets.-
(b) Define any two of the following :

{/) Finite set

(i} Same cardinality

(iif') Denumerable set.
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(c) Explain with examples the notion of an effective
method.' (3+3)+(2+2)+6

6. (a) Whatisan analytically valid inference ? Discuss
- after A.N. Prior.

(b) Is the inference ‘Mary is beautiful and Ann is
attractive therefore, Ann is attractive’ an
analytically valid one ? Give reasons for your
answer.

{c) Does A.N. Prior accept conjunctive statements
as compound statements ?

(d) What are the meanings of the conjunctions
‘and’ and ‘tonk’ ? : 3+3+2+(4+4)

[ General Impression : 2 Marks]
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